

## Royal Kruger Lodge: Rates

# ACCOMMODATION (ZAR) Full Board 1,900 Bed and Breakfast 1,600

#### ACTIVITIES (ZAR)

Day Game Drive - Kruger Park	950	Includes breakfast in the park
Night Game Drive - Kruger Park	950	This is operated by the Kruger Rangers
Sunset Game Drive - Kruger Park	950	This is operated by the Kruger Rangers
Sundowner Safari - Crocodile River	450	Includes local drinks
Wildlife Discovery Walk - Marloth Park	450	
Kruger Park Bush Walk	950	Includes snacks
Elephant Interaction	950	Includes lecture on elephants
Elephant Safari - Half Hour Ride	1,500	Includes elephant interaction and half hour ride
Elephant Safari - Hour and a Half Ride	2,000	Includes elephant interaction and 1.5 hour ride
Horse Back Safari - 2 Hours	950	Includes 2 hour ride
Horse Back Safari & Breakfast - Half Day	1,500	Includes Breakfast
Swaziland Cultural Village Tour	1,250	Includes Lunch
Panoramic Tour (Lisbon Waterfalls / Potholes / Blyde River Canyon / God's Window)	2,000	Excludes Lunch
Dinosaur Park Tour	1,500	Excludes Lunch
Chimp Eden Tour	1,500	Excludes Lunch
Tiger Fishing - Shore Based	1,250	Includes Lunch
Tiger Fishing - Boat Based	1,500	
Golf - 18 holes	1,500	Includes Brunch at golf club and cart
Golf - 9 holes	1,250	Includes Brunch at golf club and cart
Bicycle Ride – Marloth Park	250	2h
Afternoon Shopping in Nelspruit	550	4h
Golf - 9 holes Bicycle Ride – Marloth Park	1,250 250	Includes Brunch at golf club and cart 2h





### <u>Safari Packages</u>

#### Game Safaris

		Unit	No.	Rack	
Package	Package	Price	of	Price	Additional
Name	Content	(ZAR)	Units	(ZAR)	Comments
	3 DAYS / 2 NIGHTS PACKAGE				
					Bed, breakfast, snack lunch and 4 course
African Hightlights Safari	Accommodation & Meals	1,900	2	3,800	boma dinner
	Sundowner Safari - Crocodile River				
(2 nights / 3 days)	(Day 1)	450	1	450	Includes local drinks
					Includes breakfast and snack lunch in the
	Game Drive - Kruger Park (Day 2)	950	1	950	park
	Wildlife Discovery Walk - Marloth				
	Park (Day 3)	450	1	450	Local
	Transfer (MQP/Nelspruit)	500	2	1,000	
Total:				6,650	
	4 DAYS / 3 NIGHTS PACKAGE				
					Bed, breakfast, snack lunch and 4 course
Big 5 Safari	Accommodation & Meals	1,900	3	5,700	boma dinner
	Sundowner Safari - Crocodile River				
(3 nights / 4 days)	(Day 1)	450	1	450	Includes local drinks
	Game Drive - Kruger Park (Day 2)	950	1	950	Includes breakfast in the park
	Game Drive - Kruger Park (Day 3)	950	1	950	Includes breakfast in the park
	Wildlife Discovery Walk - Marloth				
	Park (Day 4)	450	1	450	Local
	Transfer (MQP/Nelspruit)	500	2	1,000	
Total:				9,500	





	5 DAYS/ 4 NIGHTS PACKAGE				
					Bed, breakfast, snack lunch and 4 course
Royal Kruger Safari	Accommodation & Meals	1,900	4	7,600	boma dinner
	Sundowner Safari - Crocodile River				
(4 nights /5 days)	(Day 1)	450	1	450	Includes local drinks
	Game Drive - Kruger Park (Day 2 &				
	4))	950	2	1,900	Includes breakfast in the park
	Kruger Park Night Drive (Day 3)	950	1	950	
	Wildlife Discovery Walk - Marloth				
	Park (Day 5)	450	1	450	Local
	Transfer (MQP/Nelspruit)	500	2	1,000	
Total:				12,350	
	6 DAYS / 5 NIGHTS				
					Bed, breakfast, snack lunch and 4 course
Royal Kruger Supreme Safari	Accommodation & Meals	1,900	5	9,500	boma dinner
	Sundowner Safari - Crocodile River				
(5 nights / 6 days)	(Day 1)	450	1	450	Includes local drinks
	Game Drive - Kruger Park (Day 2 &				
	4))	950	2	1,900	Includes breakfast in the park
	Kruger Park Night Drive (Day 3)	950	1	950	
	Wildlife Discovery Walk - Marloth				
	Park (Day 5)	450	1	450	Local
	Kruger Park Morning Walk (Day 6)	950	1	950	
	Transfer (MQP/Nelspruit)	500	2	1,000	
Total:				15,200	
	7 DAYS / 6 NIGHTS				
Royal Kruger Supreme Safari					Bed, breakfast, snack lunch and 4 course
and Relax	Accommodation & Meals	1,900	6	11,400	boma dinner
(6 nights / 7 days)	Sundowner Safari - Crocodile River	450	1	450	Includes local drinks





	(Day 1)				
	Game Drive - Kruger Park (Day 2 &				
	4))	950	2	1,900	Includes breakfast in the park
	Kruger Park Night Drive (Day 3)	950	1	950	
	Wildlife Discovery Walk - Marloth				
	Park (Day 5)	450	1	450	Local
	Kruger Park Morning Walk (Day 6)	950	1	950	
	Transfer (MQP/Nelspruit)	450	2	450	
Total:				16,550	

#### **Adventure Safaris**

		Unit	No.	Rack	
Package	Package	Price	of	Price	Additional
Name	Content	(ZAR)	Units	(ZAR)	Comments
		(		(/	Bed, breakfast, snack lunch and 4 course
Elephant Safari	Accommodation & Meals	1,900	2	3,800	boma dinner
(2 nights / 3					
days)	Sundowner Safari - Crocodile River (Day 1)	450	1	450	Includes local drinks
	Game Drive - Kruger Park (Day 2)	950	1	950	Breakfast in the park
					Includes elephant interaction and half hour
	Elephant Safari (Day 2)	1,500	1	1,500	ride
	Wildlife Discovery Walk - Marloth Park (Day 3)	450	1	450	Local
	Transfer (MQP/Nelspruit)	500	2	1,000	
Total:				8,150	
Panoramic Tour					Bed, breakfast, snack lunch and 4 course
Safari	Accommodation & Meals	1,900	3	5,700	boma dinner
(3 nights / 4					
days)	Sundowner Safari - Crocodile River (Day 1)	450	1	450	Includes local drinks
	Game Drive - Kruger Park (Day 2)	950	1	950	Includes breakfast in the park



e: bookings@safari-index.com w: www.safari-index.com



	Panoramic Tour of God's Window / Pilgrims Rest /				
	Sabi (Day 3)	2,000	1	2,000	Excludes lunch
	Wildlife Discovery Walk - Marloth Park (Day 4)	450	1	450	Local
	Transfer (MQP/Nelspruit)	500	2	1,000	
Total:				10,550	
Thrill Seekers					Bed, breakfast, snack lunch and 4 course
Safari	Accommodation & Meals	1,900	4	7,600	boma dinner
(4 nights / 5					
days)	Sundowner Safari - Crocodile River (Day 1)	450	1	450	Includes local drinks
	Game Drive - Kruger Park (Day 2)	950	1	950	Includes breakfast in the park.
	Microlight and Elephant Safari (Day 3)	3,000	1	3,000	Includes lunch
	Cystal Caves Tour - Sudwala Caves (Day 4)	1,500	1	1,500	Includes lunch
	Wild Life Discovery Walk - Marloth Park (Day 5)	450	1	450	Local
	Transfer (MQP/Nelspruit)	500	2	1,000	
Total:				14,950	





#### **Animal Lover Safaris**

		Unit	No.	Rack	
Package	Package	Price	of	Price	Additional
Name	Content	(ZAR)	Units	(ZAR)	
					Bed, breakfast, snack lunch and 4 course boma
Elephant Safari	Accommodation & Meals	1,900	2	3,800	dinner
(2  pights / 2  dev)	Sundowner Safari - Crocodile River (Day	450	1	450	
(2 nights / 3 days)		450	1		Includes local drinks
	Game Drive - Kruger Park (Day 2)	950	1	950	Includes breakfast in the park
	Elephant Safari (Day 2)	1,500	1	1,500	Includes elephant interaction and half hour ride
	Wildlife Discovery Walk - Marloth Park	450		(50	
	(Day 3)	450		450	Local
	Transfer (MQP/Nelspruit)	500	2	1,000	
Total:				8,150	
Royal Animals					Bed, breakfast, snack lunch and 4 course boma
Safari	Accommodation & Meals	1,900	4	7,600	dinner
	Sundowner Safari - Crocodile River (Day				
(4 nights / 5 days)	1)	450	1	450	Includes local drinks
	Game Drive - Kruger Park (Day 2)	950	1	950	Includes breakfast and snack lunch in the park
	Night Drive (Day 3)	950	1	950	
	Elephant Safari (Day 3)	1,500	1	1,500	Includes elephant interaction and half hour ride
	Horseback Safari (Day 4)	950	1	950	Inludes 2 hour ride
	Wildlife Discovery Walk - Marloth Park				
	(Day 5)	450	1	450	Local
	Transfer (MQP/Nelspruit)	500	2	1,000	
Total:				13,850	





#### **Cultural Safaris**

		Unit	No.	Rack	
Package	Package	Price	of	Price	Additional
Name	Content	(ZAR)	Units	(ZAR)	Comments
Heart of Africa					Bed, breakfast, snack lunch and 4 course
Safari	Accommodation & Meals	1,900	3	5,700	boma dinner
(3 nights / 4 days)	Sundowner Safari - Crocodile River (Day 1)	450	1	450	Includes local drinks
	Game Drive - Kruger Park (Day 2)	950	1	950	Includes breakfast in the park
	Swazi Cultural Village Tour (Day 3)	1,500	1	1,500	Includes lunch at Swazi Village
	Wildlife Discivery Walk - Marloth Park (Day 4)	450	1	450	Local
	Transfer (MQP/Nelspruit)	500	2	1,000	
Total:				10,050	
Panoramic Tour Safari	Accommodation & Meals	1,900	3	5,700	Bed, breakfast, snack lunch and 4 course boma dinner
(3 nights / 4		.,,			
days)	Sundowner Safari - Crocodile River (Day 1)	450	1	450	Includes local drinks
	Game Drive - Kruger Park (Day 2)	950	1	950	Includes breakfast in the park
	Panoramic Tour of God's Window / Pilgrims Rest / Sabi (Day 3)	2,000	1	2,000	Excludes lunch
	Wildlife Discovery Walk - Marloth Park (Day 4)	450	1	450	Local
	Transfer (MQP/Nelspruit)	500	2	1,000	
Total:				10,550	





#### **Romantic Safaris**

		Unit	No.	Rack	
Package	Package	Price	of	Price	Additional
Name	Content	(ZAR)	Units	(ZAR)	Comments
Lover's Prelude					Bed, breakfast, snack lunch and 4 course boma
Safari	Accommodation & Meals	1,900	2	3,800	dinner
(2 nights / 3 days)	Sundowner Safari - Crocodile (Day 1)	450	1	450	Includes local drinks
	Game Drive - Kruger Park (Day 2)	950	1	950	Includes breakfast in the park
	Aroma Therapy Bubble Bath	250	1	250	
	Romantic Gift Pack	500	1	500	Includes champagne and chocolates
	Wildlife Discovery Walk - Marloth Park (Day 3)	450	1	450	Local
	Transfer (MQP/Nelspruit)	500	2	1,000	
Total:				7,400	
					Bed, breakfast, snack lunch and 4 course boma
Lover's Safari	Accommodation & Meals	1,900	3	5,700	dinner
	Sundowner Safari - Crocodile River (Day				
(3 nights / 4 days)	1)	450	1	450	Includes local drinks
	Game Drive - Kruger Park (Day 2)	950	1	950	Includes breakfast in the park
	Royal Kruger Full Body Massage (Day 3)	650	1	650	
	Aroma Therapy Bubble Bath	250	1	250	
	Romantic Gift Pack	500	1	500	Includes champagne and chocolates
	Wildlife Discovery Walk - Marloth Park (Day 3)	450	1	450	Local
	Transfer (MQP/Nelspruit)	500	2	1,000	
Total:				9,950	





					Bed, breakfast, snack lunch and 4 course boma
Lover's Paradise	Accommodation & Meals	1,900	4	7,600	dinner
(4 nights / 5 days)	Sundowner Safari - Crocodile (Day 1)	450	1	450	Includes local drinks
	Game Drive - Kruger Park (Day 2)	950	1	950	Includes breakfast in the park
	Elephant Sunset Safari (Day 3)	1,500	1	1,500	Include elephant interaction and half hour ride
	Night Game Drive - Kruger Park (Day 4)	950	1	950	
	Aroma Therapy Bubble Bath	250	1	250	
	Romantic Gift Pack	500	1	500	Includes champagne and chocolates
	Wildlife Discovery Walk - Marloth Park (Day 3)	450	1	450	Local
	Transfer (MQP/Nelspruit)	500	1	1,000	
Total		500	Z	13,650	
Total:				13,030	
					Bed, breakfast, snack lunch and 4 course boma
Honeymoon Safari	Accommodation & Meals	1,900	3	5,700	dinner
	Sundowner Safari - Crocodile River (Day				
(3 nights / 4 days)	1)	450	1	450	Includes local drinks
	Hot Stone Body Massage (Day 2)	650	1	650	
	Body Wrap (Day 2)	650	1	650	
	Game Drive - Kruger Park (Day 3)	950	1	950	Includes breakfast in the park
	Aroma Therapy Bubble Bath	250	1	250	
	Romantic Gift Pack	500	1	500	
	Bush Orientation Walk - Marloth Park				
	(Day 4)	450	1	450	Local
	Transfer (MQP/Nelspruit)	500	2	1,000	
Total:				10,600	

